
 

                                   Reg. No. :                 
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19UMA206- Differential Equations ,Complex analysis andTransform Techniques 

Civil Engineering 

(Regulation 2019) 

Duration: 1.45 hrs                                                                                Maximum: 50 Marks 

                                                       PART A   (Answer Any Ten)                            10*2 = 20 Marks 

1. Solve   04423  yDDD  CO1- AP 

2. Calculate Particular integral of   xeyDD 22 84   CO1- AP 

3. Reduce the equation   xyxDDx log122   into an ordinary differential 

equation with constant co efficient. 

CO1- AP 

4. Calculate  such that      kzyxjzyxizyxF


2423    is 

solenoidal. 

CO2- AP 

5. 
State stokes theorem 

CO6- AP 

6. Prove that div 3r


 and curl 0r


 CO2- AP 

7. 
Calculate the general solution of 
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CO3- AP 

8. Eliminate the arbitrary constants a and b from z=ax+by+ab CO6- U 

9 Solve the equation   0
3
 zDD  CO3- AP 

10 Expand    zzf  1log  as a  Taylor’s series about z = 0 CO4- AP 

11 
Calculate the residue of 
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at its pole. 
CO4- AP 

12 Define singular point CO6- AP 

13 Find  CO5- U 
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14 
Find the Laplace Transform of 

te

t
 

CO5- AP 

15 State the conditions under which Laplace transform of f(t) exists. CO6- AP 

                                                 PART B (Answer Any Three)                            3*10 = 30 Marks 

16. Solve   axyaD tan22   CO1App (10) 

17 Verify Green’s theorem  for     dyxyydxyx
c

6483 22   

Where C is the boundary of the region bounded by x=y2, y=x2. 

  CO2-App 

 

(10) 

18 Solve     yxeyxzDDDD  2sin23 22  CO3- App (10) 

 

19 
Using Contour integration, to prove 
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CO4- App  (10) 

20 Solve  the Laplace transform of t , 0 < t < a
f(t) =

2a - t , a < t < 2a
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